SLS DAV PUBLIC SCHOOL, MAUSAM VIHAR
SAMPLE QUESTION PAPER
TERM 1
ENGLISH COMMUNICATIVE (Code No. 101)
CLASS-X

TIME- 3 Hrs. Max. Marks-80

General Instructions:

Read the following instructions very carefully and strictly follow them:

I. This question paper has 12 questions. All questions are compulsory.

I1. This question paper contains three sections: Section A: Reading Skills, Section B: Writing Skills,
Section C: Grammar, Section D: Literature Textbook

I11. Attempt all questions based on specific instructions for each part. Write the correct question
number and part thereof in your answer sheet.

IV. Separate instructions are given with each question/part, wherever necessary.

1. V. Adhere to the prescribed word limit while answering the questions.

SECTION A: READING 22 marks
1. Read the following passage. (12)

The groundbreaking space mission that will make Air Force Group Captain Shubhanshu Shukla,
only the second Indian to go to space, has been postponed to June 10, Axiom Space Inc.
announced on Tuesday—the second delay for the historic 14-day flight.

Axiom Space Inc. announced that the Ax-4 mission, originally scheduled for May 29 and later
moved to June 8, will now lift off at 8:22 am EST aboard a SpaceX Falcon 9 rocket from
NASA’s Kennedy Space Centre in Florida for the International Space Station.

The 39-year-old test pilot will join three international crew members on the SpaceX Dragon
spacecraft, marking India’s return to human spaceflight after a 40-year hiatus since Rakesh
Sharma’s pioneering mission in 1984.

. “Since we both belong to the Indian Air Force and were also test pilots, he understands the
journey and background I come from,” Shukla said, speaking of Sharma as his mentor during a
virtual press conference with the crew. “He navigated the same path in 1984 and guided me
with sound advic,e which I am carrying along.”

. Shukla, who grew up reading about Sharma in textbooks, initially channeled his space
fascination into flying fighter jets before India had a human spaceflight programme. When
Prime Minister Narendra Modi announced the Gaganyaan mission in 2018—India’s first
indigenous crewed orbital flight—Shukla immediately applied for the Indian Space Research
Organisation’s (ISRO) Human Spaceflight Programme and remains among the top contenders,
he said.

. The mission carries deep personal significance for Shukla, who will take a surprise gift to space
for Sharma without revealing details. “I will personally hand it over to him once I am back,” he




said. Shukla said that himself he will carry his favourite mango nectar, moong halwa, and carrot
halwa.

5. Leading the Ax-4 crew is Peggy Whitson, a former NASA astronaut commanding her second
commercial human spaceflight mission. The team includes Stawosz Uznanski, an ESA project
astronaut who becomes the second Polish astronaut since 1978, and Tibor Kapu, Hungary’s
second national astronaut since 1980.

6. The mission represents a significant milestone for all three nations, each returning to human
spaceflight after more than four decades and visiting the ISS for the first time.

7. Adding a touch of whimsy, the crew unveiled a fifth member—a swan named Joy serving as a
Zero G indicator. Whitson explained the choice symbolised wisdom in India, resilience in
Poland, and grace in Hungary.

8. Shukla will conduct seven experiments during the mission, studying microgravity’s impact on
edible microalgae to analyzing human interaction with electronic displays in space.

9. From the ISS, Shukla will interact with students, academia, and space industry members,
embodying what he describes as “carrying the hopes and dreams of a billion hearts.”

(Source: Hindustan Times, 4 June 2025 )

I. What makes the Ax-4 mission historically significant for India? 1)
A. It is the first Indian space mission involving women astronauts.

B. It is the first mission to study microalgae in space.

C. It marks India’s return to human spaceflight after four decades.

D. It is India’s first indigenous crewed mission by ISRO.

I1. What does the swan named Joy symbolise in the context of the mission? 1)
A. Unity among international space agencies.

B. The values of wisdom, resilience, and grace from the participating nations.

C. The mascot of the Indian Air Force.

D. The technological progress of the Dragon spacecraft.

I11. Complete the following suitably. 1)

The Ax-4 space mission holds deep personal meaning for Group Captain Shubhanshu Shukla
because

IV. Rectify the given false statement. 1)
Rakesh Sharma and Shubhanshu Shukla flew together on the Ax-4 mission.

V. List any ONE way Group Captain Shubhanshu Shukla is paying tribute to Rakesh Sharma.
(1)

VI. Why did Shubhanshu Shukla choose to apply for the ISRO Human Spaceflight Programme?
(1)




VI1. Why does the writer suggest that the Ax-4 mission is a landmark moment for multiple nations?
)
VIII. How do we know that Rakesh Sharma played a mentoring role in Shubhanshu Shukla's

journey? ()

IX. Explain why the mission is both personal and professional for Shubhanshu Shukla. (2)

2. The following data is based on an analysis of Jasprit Bumrah’s performance and his impact
on India’s Test matches, particularly in overseas countries.
Study the given passage and graph carefully, and answer the questions that follow.

(10)
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Jasprit Bumrah, India’s premier pacer, is unlikely to play all five Tests in England this summer.
However, his presence remains central to India’s success. One-on-one duels, such as Bumrah vs.
Usman Khawaja, often shape series outcomes. Khawaja, dismissed six times in eight innings by
Bumrah, admitted, “I was just getting Bumrah’ed.” English batter Jamie Smith is already wary:
“Hopefully, I can watch others face him first.”

Bumrah'’s fitness is key. After back troubles post the Sydney Test in January, he returned for the
IPL and looked sharp. But Tests demand more—bowling long spells rather than 4-over bursts.
Ramji Srinivasan, former India strength and conditioning coach, explains that shifting formats
requires 10—14 days of adaptation. “Your workload jumps four to five times. Gradual build-up with
near-match intensity is crucial,” he said.




Previously, India overused Bumrah during a five-Test series in Australia, where he claimed 32
wickets at 13.06 and a strike rate of 28.3, the best by an Indian in an away series. He bowled
almost 25% of the overs among 9 bowlers but couldn’t finish the final Test. “Injuries result from
overloading,” said Srinivasan. Recovery must consider speed, number of deliveries, running
distance, and throws in the field. A full support team — physios, strength coaches, and fielding and
bowling coaches — must coordinate his workload.
Bumrah is consulting New Zealand-based surgeon Dr. Rowan Schouten, who operated on his back
in 2023. One proposed approach involves him playing alternate Tests, depending on how his body
responds. Week-long gaps before the second and fourth Tests may offer recovery time. “We haven’t
taken a call yet. It depends on how the series unfolds,” said chief selector Gautam Gambhir.
Since debuting, Bumrah has taken 205 Test wickets at 19.4 average, nearly double that of the
second-best Ashwin. In SENA (South Africa, England, New Zealand, Australia) countries, his stats
outshine Indian legends like Shami, Ishant, Zaheer, and Kapil Dev. However, he has missed 35%
of India’s Tests due to injury.
With no current sports science head at BCCI, Bumrah's understanding of his body becomes vital.
How young captain Shubman Gill manages himself over the long series will be a strategic test.
During the Melbourne Test, Rohit Sharma used Bumrah in nine short spells. By the end, Bumrah
said, “Bas, ab aur nahi lag raha zor (I can’t push anymore).”
As former Australian all-rounder Shane Watson observed, “India can’t push the breaking point with
Bumrah again.” Though India has six other pace options, Bumrah’s presence changes everything —
India with and without him is like chalk and cheese.

(Source: Hindustan Times, 7 June 2025)

Answer the following questions based on the above passage:

() Identify the number of wickets Jasprit Bumrah has taken in his Test career so far. (1)
(A) 145
(B) 205
(C) 173
(D) 119

(i) According to the passage, Bumrah might not play all five Test matches in England primarily
because of: (1)

(A) His inconsistency in performance

(B) His back injury and workload management

(C) Lack of interest in long-format cricket

(D) The presence of many other bowlers in the squad

(iii) Which of the following shows Bumrah’s dominance in SENA countries? (1)

(A) He has the highest batting average

(B) He takes the least time to adjust to new conditions

(C) He has taken more wickets at a lower average and strike rate than other Indian pacers
(D) He plays every match in the SENA tours

(iv) Provide a reason for each to justify the following statements: (2)
(a) Jasprit Bumrah is crucial to India’s chances in overseas Tests.
(b) Managing Bumrah’s workload requires a collaborative approach.




(v) Select the correct option to complete the analogy: (1)

Fitness trainer: Cricketer :: : Bumrah’s rehab

(A) Selector

(B) Orthopaedic surgeon

(C) Batter

(D) Umpire

(vi) Complete the sentence with a logical inference based on the passage: (1)

India’s team management might consider making Bumrah play alternate Tests because...

(vii) Validate why Bumrah’s absence can significantly affect India’s performance in England.
Support with two points from the passage or graph. (2)

(viii) Which of the following is true according to the given data and passage? (1)
(A) Bumrah has a higher average than Ashwin in SENA countries.

(B) Bumrah has played more Tests than all other Indian pacers.

(C) Bumrah has taken more wickets in away matches than most Indian bowlers.
(D) Bumrah prefers batting in the lower order.

SECTION B: WRITING SKILLS (22 marks)

3. You are Aarav/Aanya, a student of Class X-A. You wish to change your bus timing due to a
change in your coaching schedule. Write an application to the Principal of your school requesting
the change in not more than 50 words. (3)

4. Write a factual description, in not more than 100 words, of a mobile phone that you wish to gift
your mother from the pocket money that you have saved. 4)

5. (a) Write a letter to the Mayor of your city, addressing the issue of carelessness in transportation
habits and advocating for initiatives to promote reduced car dependency in the community.
Deliberate on the environmental, health, and social benefits of reducing reliance on cars and
propose specific measures to encourage alternative modes of transportation. Also, emphasise the
importance of community engagement and collaboration in achieving a more sustainable and
liveable city. Use ideas from Unit 3: Science, along with your own, to write this letter in not more
than 120 words (7)

Or
5. (b) You are Sarika/Sagar working for an NGO in Raipur. You have observed that a local school
does not have sufficient general reading and reference books for primary classes. Write a letter to a
book distributor, in not more than 120 words, placing an order for books and also requesting early
delivery. (7

6. (a) To promote sustainable development, many young people are turning to eco-friendly practices
and green entrepreneurship. As Naina/Nakul of Class X A, write an article in about 150 words, for




your school magazine discussing the importance of green initiatives as a step towards a sustainable
future.
Use the cues given below along with your ideas and those you may have gathered from the unit:
Environment, to write the article. (8)
Cues:

e Environment-friendly practices

e Conservation of natural resources

e Awareness and responsibility

e Green jobs and innovation

e Long-term benefits to society

OR

6 (b) With changing times, education is no longer limited to textbooks and classrooms. As
Arya/Arjun of Class X A, write an article in about 150 words for your school magazine on the
importance of experiential learning in modern education.
Use the cues given below along with your ideas and those you may have gathered from the unit:
Education, to write the article. (8)
Cues:

e Learning by doing
Real-life application of knowledge
Development of critical thinking
Enhances creativity and problem-solving
Builds confidence and teamwork

[ ]
[ ]
[ ]
[ ]
SECTION C: GRAMMAR (10 marks)
7. Complete the tasks (A) to (C), as directed

A. Fill in the blanks (i) — (iii) with the appropriate option from those given in the brackets.

(1x3)
Solar energy (i) (must/should/could) become a viable source of power generation in our
near future. (ii) (Take/Taking/Taken) both environmental and economic cost, it works

cheaper (iii) (then/than/those) fossil fuels.

B. In the following paragraph, one word has been omitted in each line.In your answer sheet,
remember to write the missing word along with the word that comes before and after it as shown
below. The first one has been done as an example. (1X4)

S.NO. [ TEXT WORD OMISSIONS (WORD AFTER
BEFORE




A particular mineral that will will be formed
formed from a certain
combination of elements.

I This depends the physical

I and chemical conditions under
the material forms.

Il This results a wide range
of colours,

v hardness, crystal forms, lustre
density that a particular
mineral possesses.

C. Do as directed.

(1) Rearrange the following jumbled words/phrases in the given dialogue to create a meaningful
sentence. 1)

A: Do you have an idea that India is the sunny belt of the world.

B: What do you mean by sunny belt?

energy/receives/solar/energy/country/the/far/than/more/total/annual/consumption/its

(i) Report the dialogues to complete the paragraph that follows. (1+1)

Daughter: Read me a story, Mom.

Mom: Give me a few minutes to relax and unwind.

Daughter: I will go out to play.

The daughter requested her mother (i) . The mother replied and told her (ii)

SECTION D - Literature

8. Read the following excerpts and answer the questions briefly, for any two excerpts, of the given three,
(@), (b), (). (4+4=8)
(a)You must practise even longer
Till your voice, like mine grows stronger.
In the second song last night

You got nervous in mid-flight.” (The Frog and the Nightingale)
I. Identify the speaker and the person to whom these lines are addressed. 1
II. Analyze what the lines reveal about the speaker’s intentions. 1
III. Interpret how the phrase “nervous in mid-flight” functions as a metaphor. 1
I'V. Describe the effect of the speaker’s constant criticism on the listener. 1




(b) "How amused everyone would be if they knew what really happened,” said Louisa Mebbin a few
days after the ball. "What do you mean?" asked Mrs. Packletide quickly. "How you shot the goat and
frightened the tiger to death,” said Miss Mebbin, with her disagreeably pleasant laugh.

(Mrs. Packletide’s Tiger)

(1) What impact did Louisa Mebbin wish to create on Mrs. Packletide with her statement, "How

amused everyone would be if they knew what really happened"?

(if) Why did Mrs. Packletide ask Louisa Mebbin what she meant by her comment?

(ii1) What feelings did the speed of Mrs. Packletide’s response reflect? (any two)

(iv) Louisa Mebbin is to manipulation as Mrs. Packletide is to

(a) honesty

(b) bravery

(c) vanity

(d) generosity

el

(c) Mrs. Slater: In the kitchen; but you want a new pair, those old ones are nearly worn out. You don’t
seem to realise what it’s costing me to bear up like I am doing. My heart’s fit to break when I see the
little trifles that belonged to grandfather lying around, and think he’ll never use them again. Here!
You’d better wear these slippers of grandfather’s now. It’s lucky he’d just got a new pair.

(The Dear Departed)

(1) Whose slippers were completely worn out?

(i) From the above extract, what can be inferred about the speaker’s feelings for the grandfather.

(iii) Mrs. Slater was very disturbed. Justify.

(1v) Find one word for the phrase ‘a thing of little value or importance’.

T

9. Answer any five of the following six questions in 30 — 40 words each: 5x2=10
(1) Analyze how Patol Babu, Film Star uses gentle humor and emotions to show the importance of self-
respect.
(i) Why do you think Luigi did not approve of the young boys? (Two Gentlemen of VVerona)
(111) Lavinia felt that her husband’s problems could be solved with the help of the Ouija Board. Do you
agree? (The Shady Plot)
(iv) ““The incidental expenses are so heavy.”” Why do you think Mrs. Packletide felt so after killing the
tiger? (Mrs. Packletide’s Tiger)
(v) What is the significance of the Albatross in the poem?
(vi) The poem ‘Not Marble, Nor the Gilded Monuments’ talks about the immortality of poetry.
Elaborate.
10. Answer any one of the following two questions in about 150 words: 8

(a) Animals too deserve respect and should not be harmed. Describe in about 150 words how the
action of the ancient mariner in ‘The Rime of the Ancient Mariner’ highlights the regret of harming
the animals.

OR
(b) Love and pain are two emotions which can transform people. Write an article in around 150 words
about the values you have learnt from Ali (The Letter) and Nicola and Jacopo from ‘Two Gentlemen
of Verona’.
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SQP_S

HoRINIIT Ue<: Sfdd: sreqaue: stetfeifadarany Regemi gxad -
(i) srEHTd TE: aaf‘fmrﬁ:ra»—aﬁ

(i) vl 9a 3R s &
(i) SHTCTHTTICRAT: S1RMET: UTURITOM ___ 37YTd

(iv) T=|et J: amﬁi:rawﬁwaqa?r
HopST

d, gasa:, 37, 3y
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11.

SRR TS ehd- S1guar Sfaqug AT arem= g: forgd -
(i) 318 719 [AUE g Hd
() 7 (@) 700
(m) = (@) 7ge
(u)u;excr g e Mg Y 3fered, _
() T (@) o
(1) Fai, ) aaff&r
(iii) ST FAIOpTT: YT STae,
(EF) STHTHH. () 3MHTHT:
WEEICHE] (%) SrTHS

3x1=3

T T
gfSdaraaiy= (30 TShT:)

12.

STetfeifet Teriat ufS T HeTmIRHIT STRIO S forad -

37 UEhaT T e SgoTTToIaquahar: R YT 2T ST, & SeTe]
g g, Rafier: ATuREa: T ST, SO 3 SR ad,
ST UTeafQl S ShIROg- ST e o a: & ARG THe: - (g

STFIRTET: STeRTRAd, 5T AT THE: SFF-UT-ae-3oTd-GauTiientr arftegrfy
TR T T 31, 31: ST ST SRS STT: o 3,
S IIESES:)

|, Qo IR - (e THET)
(i) he AT STeRUY SIHT: SR~ T2
(ii) fRrefti Tt oh: SRA?
(iii) TTSTT hIGLY: STHRTAT: SThRIAT?
|I. gofaTeRi= 3<Rd - (chae UHGTH)
(i) TS hIGRT: STEHI?
(ii) 3TSTT a2 TITT: UTerafe) <2
(ili) SfefTT T Srganf TR I G SrTa?
111.(37) FAS=IaRA 3<d -
(i) ‘s fohamuesy ehqud foh UgerH?
(ii) “3rfefT Tg: SrfiegTa e UTog A Srvferd ’ S fohamue fohe?
3Tan
(31 FdmgaRe 3TRd -
(i) ‘s sf uewy foh fastwored rRgerg?
(ii) ‘ST~ S foh TTRuS UgeRdH?

2xY2=1

2x1=2

2x1=2

13.

Srefoieauel ufSET UeaugH STRITO S8R forad -
RISINT H1eU] < TgUT YIRUT qAT
Seratgreifas awga = ¢ivom:
ST qIEHTG UTe RIS Ser
TR UTEHTER UTE T
|. TehueH Ia=d - (hael UHGTH)
(i) f&r: o o 22
(if) h: ST UTGH 37e=l?
(iii) 31t ety efirom: IfeerfRar:?
|I. gufeTerRl= I<Rd - (charel UHGTH)

SQP_S

anskr{i) HERVESTIVEK RFHSHAEREGE Maid?

2xYs=1

2x1=2




(if) frg: v hegTq UTeH, 3iext?
(iii) freg: fgfie uré snef amogifar?
111, (37) FReamgaRy 3<Rd - .
(i) ‘SigiresT SHe vataug 3 feh?
(if) 38" gy feh famriorad vgerg?

am?:n

(aﬂ)ﬁfiin gﬁraﬁwﬁmﬂz%@a
(i) 1R

(il) ‘T Sy e fRraa

2x1=2

14.

SreiforRed AR UfSHT TeqUFTHH IR0 T forkad -

TR - (MFASY ATEETEH) T T, &Eﬂqa'ﬂﬂgq&ﬁ ot 7 TS aa
SHTTIRATAT? HI YT IR HIT Bl S1faTey shzeran werafsy faie
| STaHTHG: W] 94+ Ufeieper:

PTeh:- 3 URTETGh | T, ST FohH, SR STFTIRY?

TR~ [T ST, HH e  Ueha: STRTEFT U | aradera et ot
qH e 31Ud: YIEIH, HH chepRa:: YT chifchel: 31U dseid #H
RRRY TroTehela fRRaT: R U g4 o UfaRTSt: &

Pfiet: - (AT ) YR | e STThed T FEATS STage R geT o7

USEHASERUT TR a1 HdR: Sherdf= -
hIch: HYT: [Uch: HWT: &l Ug: fUhaRT:
Wﬂﬁm@rm hIh: fUeh: fieh:

|. Yehue 3IRd - (Cth*I UHGIH)
(i) g T Tehd: STRTEMT 31fEa?
(it) hTepre qof: Figer: sifk?
(iii)ﬁmﬁ:ﬁ%;mamﬁ?

|I. gufeTerl= 3<Rd - (charel UHGTH)
(i) USHAGRUT &h: hel ° TRfd?
(i) eTeR: T s aefa?
(m)waﬁzﬁmanawaﬁﬁﬂ 30 Toeid?

1. (a)ﬁé‘-ﬂgrlw
(i) ‘TR m%mﬁmmw?
(ii) aﬂﬁgﬁmaﬁwmmu@ﬂm

(aﬂ)ﬁiszna}'rmm
(i) STIEH S S ve: ki R foraa

N N ~N

(ii) ‘sTrrge} R et 318 USHARERUT TR 3o faraue R

2xYs=1

2x1=2

2x1=2

15.

TS hd-UeT= 3TeJc URHHTUT e -
(i) Srofreg g~ Uty ATeiehl: TEET: 3T,
(if) 7=: FAug ariiRa s srfa
(iil) eFTeR: TR Y, wraterafa
(iv) SIRMET: YTV SARd: STTa,
(v) T & ge e

ox1=5

16.31

HoRINTd: GHfRquCT e sreifeiRad-sciieney 5 R g foied -
T 1 Maerafere 7 ag-Ra 7 fdem smn

et = e T AeReATouft aroft

SQP_S

2R+ iy /2025260 e Sfiergierer

4xVp=2




4, (iii) 9 M (v) a9 (ugeard)
BT, TgTedid, HeRH{TNof, T
3 m;nﬂ! _ 4x%,=2
TSRS HIGTH *tehe {Tary RergermT= e g: forea -
31 eh UGS U1y <Rid GRW:
e gwly | Farfea Maifeid:
raref: - arsf: sfereni aefy - & arsfa | @ ORa: ST SRt (i) q
g AU FeTydent (ii) gq (iii) TR (iv)
ifd
HORIT
Frgere:, SifeRe, o, St (T2:)
17. | SreifeiReqarendy arefehauai TegTIenet Idre R feiaa- 4x1=4

(i) Yehed SIGITUE Tehel HSSIIaH,

() TOTH, (@) aikguiq
() TRA (a) 3rfdep
(ii) ATe | SIEr e sfRaor oy g I
() UETE. (@) uz’r;rm
() g (&) YopeT
(iii) STeh: HIAT Bl SARE] sheaar Werafa
() @rfear (@) Tt
() @
(iv) W@?@Wm: AY: GUehRUT dTfed:
(eh) I (@) 3=
() At (@) R
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18.

SrefiferRaa-arer Regemta iR g forad -

qa?@q:m%(u) THch: Yoh: HOfd: Saqd o ET:

:m% T (Eﬁ)?@?rarmwagf%ﬁ%r@r :(ii) e gyfe
W QIGF!% 1l ﬂ&qaﬂla 3‘”@'3 l@lalul

ST, STEFIRT AR Ufiey a5 o gy usafa aed (iv)

JUhRT: | TGS HUFRT- ShIG-THuTS! & Uy, é:rqaaﬁsramf%
& ﬂwayzﬁmvrrir(v) AT arRgafd: sigad: ‘A
YUhRIUT & helg: (Vi) feara i * vd aalRa a@: gafq.
TR 3183 Yehr (Vi) - ‘9}: greeET:! gfafe Ao ag

JUhRIUTH UN: chelg: T4 3TEHTh fa-merey shrui wfdwafa a1d: aaw gad (viii)
g I+ TeoT:  d9] 3¢ ShUTH 3T HHT THTRHTGSHT:
E|'|7'RT TFﬁqm '_'T3T‘J-ICH LI(*(;],H §Q'1H SillTeod

HopINT
39S, helgH, JsTHaH, Hisguare:,
STTaTeTaNgH, AT-RIONH, I, W& &

8x%2=4
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SLS DAV PUBLIC SCHOOL ,MAUSAM VIHAR
Sample Question Paper
PET-cqdl TERM -1 Jqg- 3 °c
fawg- fgdt 9 HINDI COURSE B ( 085) -
- 80

g fAeer-

SUUY A A IR GS §- WS P, T, T 3R T 3R U4l &1 $d ¥= 16 B
gl & G SUYRTT & IR HUR: T 1Y feRau|

SIRYFRIDT H IR P 1Y e} HH T ARy, S uy v H & 7L 7
it T e g

WS-P (3UfSd de)

1) FafaRed T & eaYd® TgHh SUd YR UR Halfyd Iugad 3R dTd [dded
N ferfay - (1+1+1+2+2=7)
3{Tolehd HEWTs & SR W =fga Wiftra oma & e h-we i gradh =gt wite g, Uit fufa o
BT 3P ol aReH I1fad 8 €, Gﬁﬁﬁﬁ@ﬁ%?@ﬁmﬁﬁ?@%% q1ft
QRABITT | YR bR $eT bR & | ¥l bIRT feeyreral cur weiaeerdl # giebrerd]
BT USY 3fa<d foraT S § 31T fR1&T & TaR-TYR & BRI §7] He 3R it §¢ T B
qABIC! | ideT, YiNd, TaH, T I, Siied, Siieid, 4F, et 31fe aut TG
P! AR B GRT R 3 TS N S A Sude & S €, o T g @ el
o urelf 8 1 TR g9R faaRt quT fifad &1 geg a9 8, SHR I &1 fadm Sl § aul
TR 3R STATIYT BT UG ITF il o | 39 €V T T gARI IRA 7 €|
DT GHR AT auft BRI 81 Gebd 5, 519 GH gl & [-IH! BT UTeH $I | T8 AR
Hdcd ¢ o 89 I8! ifd 91T [ TUT G| & foT & UgaTe 9Hg IR a1fud & <, difds
3G A b1 Y 98 YRde U Bl Uob |
gl § 99U 4 81 Y¥ddh Ug o1 3Mad Sl a1fel| §HR 4 H Ug 991 g:@g fUfd § fob
T8 S B UTeaqae! & ARG 310 [ UgH &1 3Ted el o | 39 foum & ifiyuraem!
T FR1eh! DI 81 T I o=l § GRAd! & Ul S ST gift |
(i) TP fhah oY aRe 82
@) fAe aEl & forg @) fayfoemea & o & fog
() el auT HeTdeel & BEl & oy (@) 94t Rl o fere
(ii) FEfIRId HU= (A) TUT HRUT (R) BT &S Tl IS 916 [T T fadwed I Big
U Aol f[dbed g feifRay - _
gu'vr (A) : DT SHTY X\ G GRadh! D1 91 &l UgaTe 9890 R dleHT gidead & |

|
HRT (R) : 3P 2P T HrwR faamf qedewTad ¥ qxdd dax Hed- od ¢ |
() BYT (A) Tal 8, PRI (R) T g |
(@WWA)H%HW(R)&WW%
(M BT (A) T& B, 3R BRUT (R) IH! J&! AR B |
(&) HU (A) TAd 6, fbeg HRUT (R) TG 5
(ifi) 'T-YXh Ug' - 39 U 5 fohdl T &1 A1 W?
@ fEi® (@) Riel o @ - ®d (@) 9r-oar 9 gl a1
(iv) 5= & S99 9 & SH-Tt 3Ted STa-t a1fee?
(v) Sl T Rl o Ui Bl SId o’ o foid forgen! Uy =T @nfg e

2) =t faT 7Y I Y YA UfGU SR 39 WR MUTRT U & IR Wg! f[adbed gdm
i%li@Q (T+1+1+2+2=7)
WWW%WW%WWﬁWwWWWW%EW
T qToft 3R FdER &1 Yl ﬁw@w@wmwﬁaﬁaﬂg G URER® Tgld
3R AT Ht UG 31fS BT 1w 9gd He<aqul AF MU g1 3 it o afe v safda &
TN T[0T & =0 & 1} Sifard A STE ot SHHT U1 Sita- & 3R Herd g1 gl




g1 gt 7ol &1 fasr Ue aTas o afe 39! STearaT I 8t farat STe aY 98 3(U= 3= &1
9N ANTR® &1 GobdT & | 3 0N & HRUT d8 U URAR, -Usr, faened & 3=
TeyuIidd! Ud eTueh] & Ui gUifd UagR o b

qTo7t U4 Ia8R &t AeRal Gt & o Guere® gia &, TH H gifcd Tward $I 3ig ol
? formg SR fad g Rawy aruft 3R Iy Ha8R &1 YA &R Tohdl 8| SEHRT 3R
&t e e 3ify aroft 3R agR @1 enarft giar 3 fryeT uRumy 78 giar ? i U9
3Tt &% agR H ifd 3R AT BT aTdTaR Tt o

T IR T afdd THS T XEHR 30 HGER Y Haied 3R SUIBR & Ui TorT @ g,
I RE < & Ul +ff ITPHT TaER FHid SR SHABR B UG § HTfad g1 eyl
ST IYDT BN gl Il ¢ fob -1 ol 98 T U1 DIs HIH B 3R 7 & GO &l dxA <,
o 31 & I, JH SR WA & 39 T |

TS U4 o1 H Mifd §91¢ 7@ & forg enfifes afgsopan ot sg4d smawas ¢ 1 a8 g aat o
Jardll § o aafad Idferd safakd &1 1| a8 SMidRe g aTedt Tos I R 1o o
3Yfa ¥ ufguf sfddea arer g TRl

i) TRIRT & e & ST AN 5= & oTe ol &1 U1aeT™ SH1axae §, Fiifd Ig -

&) TAdddl B FeTal odl & o raraRur &1 i~ ¥ uRyuf Far g

) Afddd P! RS Siiad ®I 3MHIG-THIE & TRYY S 5|

) e B RS Siidd & @ 3R HTas™1 § uRyuf dar gl

Y) fad &I 3EHR, Rary amft $ik Ry aragR § ufivgef wrar |

ii) aToft Ud SR B HyRdl a4 & T g@ars gidl ¢ | 39 HYT & [T Iuged o ©-
@) o= & JHM, KT R WIYHH &1 39 Ugad! |

) <1  THTel H 2T 3R WIGTE B aTaraRul g} a4l

) Hied 3R SIBR BT TfoId Fafg §gd Sava® g

°) JAS | g1fc e gl &1 g 3R TG &1 ufamT 8l 2|

iii) FAAfeIRId Bl IR faaR HifoTT -

) SEPIY SHfeRT HeaT SR aroft b Sreare §ier & |

1) 315dp|<| oulord g1 HeR aTuft &7 gyt glaT 3|

Illy SEHRT Afad TaT Raver aoft &1 enard gl 81

:{crgfaam:ﬁﬁﬁﬁ:r ql/DHH-9 HYT Tal 8/8?
F)Had | @) 113 T | 3R]
o) | 3R 1|

iv) Tgferd fddd ¥ o drad g2
v) THST 3R X # Wifd 91T [a & T T SH1awdep 7

WS- W (HTG8IRD HTHRUN)

3) FAERMTOR uedy WR aneria ura usit & F forgl TR usii & IR - (1x4=4)

i) "SB! Hed H 98 gy TTed! Jad UT" 39 a1 H U Ugsd FdrsU|

i) "4R-4IR YT G S T 11 ATy H @ifohd Ugdel T yRay <forg|

iii) “qdNT ﬁwdﬁaﬁ’wmﬁ - A A |~ are B X@ifobd Ugay SRy

iv) “ SRR 47 A I1cll & § & gﬂﬂﬁ%ﬂ% SABI" AT o g UgsY DI A1 8?
v) "B 3T & HIS 8T HT 98 U U bR U101 I S | a1 & I@ifebd ugsy

ERIE
4) FCITER 91 & STYR W a1 g R UG drg usli § 9 gl IR usi & SR

a‘ﬁm (1X4=4)
i) "UgTs 3R Walme WY-TTY Id Ihd &' — I1ad -1 &1 2 T I HH-IT1 a1 82
||) Jb! ToR TR 3R I&d 81 AR U0 el | — 3T g aTeRd o1 ST

iii) T Ty 9199 &1 I8 T g ifoid |

iv) "TART AERI BT S AR g ot ot 33 gEe gRkadd & e it - a3l P 9 a8
IR HIF-1 82

v) "B AT wed! At fh IR gd 3 & U1 4 TR dig IR U A — ST IRd a1
GEIE




5) SRR AN WR anenfid dra ush & § fogt IR usif & IR I (1xX4=4)

i) 'GRADICT HXIUG HI fa9g HR FHR DT A fRau|

i) i g 3R ST grdue forgde TH &1 Ye forfau|

iii) fore T o ORI UG YU 811 8 3R SRS RIg &1 UdI 8Idl 82

iv) T IR REFR B! | J@ifhd THdaUe & R IR fa9g forad gu 99 &1 AW
|

v) AP’ HEIUS &1 [ & JHN &1 AH faRkau|

6) FICRITER FeTarT W 3eid Uid Uil 7 & fobel TR vyl & SR AR (1x4=4)
i) D707 e HeTaR &1 Tat 31 g2

i) fewd e eTak &1 Ta! orf a1 g2

iii) “"IRol TSI gRT U UTaaRTar H Ued Sid- IR G BT e I — ad I
@1 gl 3 gerar & o

iv) “3MEoToTHo BT TRI&N U XA P T o Uedl 8, I8 HE ST e

fireret 817 - Rad wM &t gfef I gerar ¥ Fifsu)
v) 'SR HITd 8T — 39 o & fag Wt geraw fafeu|

TS - T (UTGIYRdP Ud TRh UTGTYID)

7) Frafafad ufdd uerir wR seriRd Uyl & Ia! fawey gfHu - (1x5 =5)
IR 1 TRg MR IR-3R

ﬂ?{ﬁwwgﬁﬁam

Al Bt afeal ¥ Yar

mﬁ%ammﬁ\fﬁ%h'

R T 7RG MR IR-3R

e ¥ 79-79 Iford B

Al Pt Afeal ¥ g

RA & 9T W R

fIRER & IR Y I3-33 PR IHATHIENS § TR

g 91 3@ T IH R

A, 37cd, $© RKidR|

) AR P IRG BT TH R RS -

P) UGTS W) AT ) Udd °) U

ii) SR & TWRI Y79 & I W) STl 87

%) UfddeT @) I=THieT M IS ©) IR

iii) R & U B g byl Uaiid Bl 82

) Gell 1 ArSTI-Hl @) Hicll D1 AfSal-Al ) Hiell bt ASU-I - ©) 37H A PbIg Tl
iv) Tdd &1 BTt TR 3T S g&fi B g [had DI 75 87

D) A P TR TAH W) IRAD IRAYAT T MU A Tgd Ul g ©) 74 4 334
arelt St srepienaf &

v) IUYad BT § AT HIF-91 HUF 39 872

P) IR Udd BT IR HR W & |

Q) IRAT BT TR A U P 8T 8|

M) Hidl B ISl e 81 5 |

) g4 foreft et fran & g gu B

8) fFufaiad weli & 9 foog! 9 Uil o IR aTHIT 25 ¥ 30 Wea] A [l (2x3=6)
IRRLRC L R — g H 1RT 7 EIud] Ugdre 3R $oR’ BT IGTeRVT ¢hR 3T SRIHT aTel
78R T 3 il 83 ot fo=icht fhg UpR &1 872

i) aNT Bq H T YR BT Mdhidd €9 fdd HARH g1 odl gl 39 By & faid o
Udd UeRl H Uraq Sfadr &1 ufaure 3 wsal H fafauy

iii) PfI TYHROT T[T 7 HgT, 3P Th UY & Tad vy g g1’ 39 dfdq & wrdfewar g
IAHH THT § 39T Shfrd wifd sife|




iv) 30 THTG & e T & foT ek = a1 IUTg I /7

9) ﬁaﬁ@a%wwwuﬁau&ﬁ%ﬂﬁdmdlmquqﬁq- (1x5=5)
TART BT T 39 HRDBH! T AMHD 7 UT| IUH! AP 3 AR DI gad 8§ o |
W%sﬁ:%wﬁg%qﬂ%@raﬁaﬁﬁéwmlmmﬁmw
u%aﬁﬁﬁ%mwagwﬁaﬂﬁhwamﬂmﬁ&nﬁﬁmﬁzﬁlwom&n@dm |
816 BIU X5 Y| TART Pl GWd 51 I8 PedbR A ot | daRT [Agd goi| I9Y $& dierd ol
1 &1 XGT 4TI I B 3MATT TR Sl oial off el At | TART fhdhdaaiayg oTl amERl &
3G WRI DI GADR D! AT 981 Ugd! 3R GIHI DI ¢GDHR 31T §Ga 81 3ol | TR Tiaarall
oI U T I = I HHMHoHS | 39 &9 7M1d & $& arT Y 981 ugd 4| aERy
DI AT HIY T IHA I3t IYA TART P dRE-aRe W UG | g & ant off adier &
faRYe H 3TaT IS T | g TART & T Sre-1g U1l aiiRi 3rd 4 AT o1 g1 & | el +f
TR ¥ 1R 3371 I a1 faaTg &1 oY URORT TR &Y T 98} SU-T SRIgdT TR Tigt | aTHRI
BT gW I 3R T8 R QT UT| I AIGH 7 T 7 F1 el IoMT AMeq? AR D]
BTy AR D1 HS W off fewl| iy H I dadR o 3R $6 faaR &vd1 W1 Sy
AR 3 B dRg 9¢ T AT

i) IR ARG & UST & g § o f3ul gs o

FHITEFRY ) TEF AT NS TR TR AP TG
u)aam%rwﬁerqmﬁﬁwmm

l) IR &1 AT 7 e far

11y Tiq arert 3 oft srowmfara fara

11 arERY = I8 oA faa

V) 7T & T = I SOHTHd fomar

&) Had (Il) J) (1) 3R (1) M) (1), (11, (I ) (), (1), (IV)

ii) wa@ﬁva@ﬁﬁmﬁm%mumm

F)WE D W@ UAYGH ) ORI qadb  ©) SUHSHD

|V)E|T~Eﬂﬁwwﬁﬁ

P)WEEF U W TAS IS N TIRIT SIS F A 1) ot & WD

v) BY (A) dHRI GART 1 GEHR Igd G 83|

PHRUT (R) A A ddRI B! 9gd Hg b

®) Y (A) T4 &, fhd HRUT (R) T

@) HYF (A) 3R HRU (R) S g1 7TAd 3|

) HYF (A) TE1 § 3R BRI (R) FYT (A) B Tal TR Sl |

) HYF (A) T8I 8, fhg FRUT (R) HUF (A) P! Tg! SARSAT T8 Rl g

10)ﬁqﬁ«r®au&hﬁﬁweﬂqmﬁ%ﬁwww 25 30 Yeql | fARIUI (2x3=6)

) 'SR BT U U1 TS o STYR TR STgT {5 YFerd = am GH-Telsh Faimam 3R f? ol =
m JhR I9D] Jedle 3R faar
ii) TANT-THRT HUT & AT F TAS B D -9 THT B 3R S o0 [T 7T 872
iii) IS TS Iree 3 Rieth & arqua 3R fearet 39 § 4 5 Aeaynl Her g 3Rk &7
iv) §9 HTS 8T & IR-TR Bd 811 & HRUN D JHieT HIfoa|

11) Frafoad usi & 9 foal 2 Uil & IR ATHIT 50 ¥ 60 Wegl H IRaWI (2x2=4)

i) RER BIHI & TIY I HISTT YT STHIERT & Hed A HuT IR fobar? o1 3119 39
Id A 87 HRU Iied WE BT

i) IRaR P} WiuRedr duT gkeR HIeT ot SUer Td Ifd e 7 f6hu 9 & gufq &1
g 3MUP A9 TR T 3R BT YHIT USdl 87 304 W T 317 TO} fRUTT 1 HF FHTerd |
iii) ‘SRER B1HT T Il F Ul YdgTEH BId THS B HUT B | TH YU HI HEHI &
3MYR TR 33160 Aied g Hifo|




GS-9 RITHD TRa-)

12) Fofoied & 9 foeht ue o IR Tdha-fagaft & STUR IR THT 100 Xeg! H 3wq
fafgu- (5)
i) TSI DI I H - GG TRAR

o TUhd URAR &I dgdl Iad
Uehel URAR 3R qHH FHTST

Yo URAR &1 STa=Gehdl

g@ﬁﬁé@%
UHTDHIU &l SIIE g
fa- H IRYdT d1d dIgR

TERI BT ¢ YR

TRYT HTd AR

BRI & <

BRI TR A BT 3R
i) gTaT Siidq 3 f[daR

o YR YWHIA 3R A1eT e 3= fdaR
e Hodl
o HEIYRYI 7 3UAT HiaT Sfia I fduR

be o o o

4]

i)

gaaH fRufa
WWW%WW@W%%@W%W@WWl
14) FEfaREd 7 § 5wt ue favg o @i 60 Rreal # ¥ faf@e- 4)

I & ARG iae HRIHH & Ifd B 3R I T10 FADR! GRT ATed Ui &1 LI
IR i
Y4l

3T 30 faemerg &) it Tfecs Ofifa & O g1 3muds faenaa | maifSia 811 arell grgl
T gfaaifar o fore faenffal @ simifa #rd gu g ford |

15) fFofafaad & T foedt T fawg TR @14 40 Tsal H faIUH TOR sifore- (3)
3T WX & WG] I HSR A TIeft ST o AR W Te| a¥d| b A 0l S 8.
AT Gl TR 10 f=1d & 25 Ufi=Id % §e o &1 Fyd foal g | W8 &I 39 et 3%

SR BT YYD AFHR IS (97U IR DHIoT |
Y4l
faerer o 1 9Yg gR1 UKd WaiG AR Aleed & aR T 9™, U, fa, au3, idwe
3{TfE Pt YI-T <d gU U 99U daR Sifora|
16) TR AU &1 AIgRI® e - favd R U TgHYUT TFIHT 100 Ysal § el (5)

SHYd[
3Ye faenerd ¥ aiities Wa-faay T 7| 39! SHeR! ¢d §U W d Ue e qiifd &
31l i 3-Ae forfa




SLS DAV PUBLIC SCHOOL., MAUSAM VIHAR., DELHI-110051
25018/ X/018/2025-26
SAMPLE QUESTION PAPER
SUBJECT : FRENCH
Time: 3 HRS. Max.Marks. : 80

Les Instructions:
e (e papier est divise en 4 parties

Section (A) Comprehension Ecrite 10)
Section ( B) Expression Ecrite (20)
Section (C) Grammaire 30)
Section- (D) Culture et Civilisation (20)

e Répondez en séquence

ECTION-A MPREHENSI ECRITE

1. Lisez le texte et répondez aux questions :

Un repas équilibre

25%0 pain

§ pommes de terre
X%‘ pates e s
L S

=y -——"“-" r-\'-'
eV

25%9% prndmts Iatassrs o
wande 50%0 lé_cilumes

poisson %Y : fruits _
!l EI-, o s, > 4
it . . .

Une assiette pour le repas du midi ou du

soir devrait comporter:

- 1.4 glucides (céréales et produits issus de céréales)
1 74 protéines (poisson, légumes secs,
fromage, ceufs, viande)

12 léegumes

On s’accorde a dire qu’une assiette équilibrée comporte un quart de protéines, un quart de
glucides et une moitié¢ de légumes

Un conseil nutritionnel trés connu globalement consiste a ‘manger équilibré’. Cela semble
relativement simple dans le monde moderne ou des termes tels que ‘glucides’, ‘fibres’, ‘fructose’
et ‘acides gras oméga-3’ forment les conversations quotidiennes. Au cours des dernicres
décennies ( decades), la recherche scientifique a rapidement fait progresser la compréhension de
la nutrition humaine. Comment étre slr d’absorber suffisamment ces nutriments qui sont
innombrables en apparence ?

La bonne nouvelle est qu’en réalité, c’est assez facile. Un repas équilibré est le reflet d’un
régime(diet) qui couvre les trois principaux groupes d’aliments. Comme 1’assiette danse I’image
montre, les proportions sont : un quart de protéines, un quart de glucides et une moitié¢ de
légumes.

En bref, la plupart des aliments répondent a 1’'un de ces trois besoins (needs): énergie,
constitution et entretien des tissus, ou régulation du métabolisme.

Six types de nutriments sont essentiels a la survie : les protéines, les glucides, les lipides
(graisses), les vitamines, les sels minéraux et I’eau. Les protéines, les glucides et les graisses sont
des macronutriments. ‘Macro-’ signifie que notre corps a besoin de ces nutriments en grandes
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quantités. L’eau est aussi un autre macronutriment essentiel. Les vitamines et sels minéraux sont
considérés comme des micronutriments car notre corps n’en a besoin qu’en petites quantités.

Les aliments riches en glucides incluent le riz, les pates, le pain, I’orge, I’avoine et les autres
céréales. Ils apportent de 1’énergie au cerveau, aux muscles et aux autres organes. Les glucides
complexes issus de céréales sont a privilégier car ils fournissent également des fibres et des
vitamines B. Les fibres sont essentielles au bon fonctionnement des intestins, tandis que la
vitamine B permet au corps de dépenser 1’énergie apportée par les glucides. Plus nous sommes
actifs, plus nous avons besoin de glucides.

Les aliments riches en protéines incluent les ceufs, les fruits de mer, la volaille, la viande rouge,
les 1égumineuses, le lait, les yaourts, le fromage le tofu, les noix. Ce groupe est vital pour le
maintien du tissu musculaire, pour les globules rouges et la production d’hormones et
d’enzymes. Nous avons davantage besoin de ce type d’aliments lors de maladies ou des périodes
de croissance (c’est-a-dire I’enfance et 1’adolescence).

Les légumes (et autres végétaux tels que les légumineuses, les fruits, les noix, les graines et les
herbes) sont riches en vitamines, en sels minéraux et en fibres. Les vitamines et minéraux
facilitent le fonctionnement du métabolisme et des organes, indispensable pour rester en bonne
santé.

Manger équilibré n’est pas compliqué. En fait, cela ne devrait pas I’étre ! Avec le principe du Y4+
Ya + Y4, tout repas peut contribuer a votre bien-étre.

A. Répondez : ( 2 au choix) 2x2=4

a. Selon I’image, Quelle proportion doit comporter des nutriments d’une assiette équilibre ?
b. Quels sont les trois besoins principes de notre corps ?

c. Pourquoi les vitamines et sels minéraux sont considérés comme des micronutriments ?

B. Dites vrai/ faux : 3

a. L’eau est I'un des macronutriments essentiels pour notre survie.

b. Les fibres aident a la production d’hormones.

c. Selon I’image, il faut manger les produits de lait le plus de tous.

d. Plus nous sommes actifs, plus nous avons besoins de glucides.

e. .I1 faut manger plus des aliments riches en Protéines pendant 1’enfance et 1’adolescence.
f. Les céréales sont une source riche des vitamines D.

C. Trouvez dans le texte :( 3 aux choix) 3
a. la forme nominale de < produire>

b. Le synonyme de < vitement>
c. Le contraire de < pauvre>

d. Forme verbale de < la contribution> :
e. Une conjonction

SECTION-B (EXPRESSION ECRITE)

2. Ecrivez ’une de ces lettres en 80 mots : (1 au choix) (1x10=10)

a. Ton ami est au chdmage depuis un an. Encourage et conseille lui pour trouver un bon emploi
dans ta lettre

b. Ecrivez une lettre a votre correspondant (e) indien ( ne) en lui parlant du systéme éducatif en
France.

c. A ton cousin en lui décrivant ce que tu fais pour te détendre.
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3. Faites quelques deux de ces questions A/B/C (5x2=10)

A. Ton ami(e)t'invite pour visiter un grand musée d'art. Mais tu ne peux pas y assister. Rédige un
refus en 30-40 mots.

B. Rangez le dialogue et recrivez —le!

Laurent : D’accord. Etpuis je dois aller au Consulat avec mes papiers?

Le responsable: Bonjour! D’abord, vous devez remplir un formulaire.

Laurent : Tres bien ! Je vous remercie!

Laurent : Bonjour monsieur! Je voudrais avoir un visa pour aller en France.

Le responsable : Oui, il faut deposer votre dossier complet au responsable de la section.

C. Complétez I’histoire avec des mots donnés: (prison/ plus/ début /monarchie /prise/ féte/
finalement/ naissance/ pouvoir/ ancien)

Le Quatorze juillet, la (1) nationale francaise, commémore la (2) de la Bastille, qui a
eu lieu le 14 juillet 1789 et a marqué le (3) de la Révolution francaise. La Bastille était
une (4) et un symbole du pouvoir absolu de 1’(5) Régime de Louis XVI. Sa prise par
le peuple a montré que le(6) du roi n’était (7) absolu. Elle a marqué la fin de la
(8) et 1a(9) de la Nation Souveraine et,(10) , de la premiére République, en
1792.

SECTION - C (GRAMMAIRE
4. Conjuguez les verbes au temps convenable: 5
5
a. Le professeur dit aux étudiants, <<Ne __ pas absente !>>. (Etre)
b. Hier, quand elle a quitté la maison, nous . (se coucher)
c. Aussitét qu'ils  du marché, ils se promeéneront. (rentrer)
d. Ifaut  toutes les questions. (répondre)
e. Quand j'aurai prismonrepas,je  ( se reposer )
5. Reliez les phrases avec les pronoms relatifs simple/ composés : 5

[N

. Ce lac est trés beau. Nous nous promenons au bord de ce lac.

. Le bourgogne est un vin. La couleur de ce vin est rouge.

c. Cet arbre est plein des feuilles vertes. On va rester sous cet arbre.
d. Voici mes amis. J'ai voyagé avec eux, 1’ét¢ dernier.

on

e. Voila les étrangers. Nous préférons parler a ces étrangers.

6. Répondez au négatif: 5

a.Bois-tu du jus de fruit ou du café?

b. Y a-t-il quelque chose a faire?

c. Avez- vous rencontré beaucoup de monde la ?
d. Est-ce qu'on a déja réservé la place ?

e. Ecris- tu souvent des poémes ?

7. Trouvez les questions pour les mots soulignés : 5

a. Si, mon pere a acheté un bel appartement.
b. Ces fleurs sont magnifiques.
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c. J'ai mangé de la glace a la vanille.
e. On est allé a 'aéroport en taxi.

e. Il faisait beau, hier.

8. Mettez des adjectifs / pronoms démonstratifs :
5

o oo o

ordinateur est moins cher que

Répondez a questions de science.

Il y a deux parfums frangais. Tu préféres ou ?
de Moliére est trés intéressante.

J'ai vu cette piece Comédienne. Mais

chanson est aussi mélodieuse que

9. Remplacez les mots soulignes par les pronoms personnels :
(COD, COI, TONIQUE, Y, EN)

a. Le garcon nous a apporté de la soupe.
b. Ne réponds pas a cet homme!

c. Ils sont sortis du restaurant a Sh.
d. Va-t-il appeler ses copains ?

e. Pense a tes projets d'avenir !

SECTION- D (CULTURE ET CIVILISATION)

10. Répondez aux questions : (5 AU CHOIX)

a
b
C
d.
e
f.
g

Quel est le role des médias ?

Que faut —il pour avoir une carte de lecteur ?

Qu’est-ce que c’est < Pafichatantra>
Que savez-vous du musée du Louvre

Qui est Antoine de Saint Exupéry ? Nommez un de ses romans.

?
?

Qu’est-ce que c’est le baccalauréat ? A quoi sert-il?

Qu'est-ce qu'un mensuel?’Nommez deux rubriques d'un journal frangais.

XI. Dites vrai ou faux :

a. On peut faire de petits boulots pour payer ses frais des études en France.

b. L’ Arte est une émission francaise.
c. Le Frangais dans le Monde est une revue frangaise.
d. Jules Verne a écrit < Les Fables>
e. On fait des études des Lettres et des Science humaines a IUT.

XII. Reliez les colonnes (A) et (B)

A
a. écrire

b. chercher
c. faire

d. ranger

e. s’inscrire

B
1. les dossiers

ii. de I’intérim

iil. a la bibliotheque

iv. un emploi & mi-temps
V. un concours

de mathématiques sont difficiles.

5x2=10
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SLS DAV PUBLIC SCHOOL
SAMPLE PAPER TERM 1
SESSION 2025-26
Class X
MATHEMATICS

TIME: 3 hours MAX.MARKS: 80

General Instructions:
Read the following instructions carefully and follow them:

1.
2.

3.

9.
10.
11.

This question paper contains 38 questions.

This Question Paper is divided into 5 Sections A, B,C,D and E.

In Section A, Questions no. 1-18 are multiple choice questions (MCQs) and
guestions no. 19 and 20 are Assertion- Reason based questions of 1 mark each.

. In Section B, Questions no. 21-25 are very short answer (VSA) type questions,

carrying 02 marks each.

. In Section C, Questions no. 26-31 are short answer (SA) type questions, carrying

03 marks each.

. In Section D, Questions no. 32-35 are long answer (LA) type questions, carrying

05 marks each.

. In Section E, Questions no. 36-38 are case study based questions carrying 4

marks each with sub parts of the values of 1, 1 and 2 marks each respectively.

. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2

Questions of 3 marks and 2 Questions of 2 marks has been provided. An internal
choice has been provided in the 2 marks questions of Section E.

Draw neat and clean figures wherever required.
Take 1 =22/7 wherever required if not stated.
Use of calculators is not allowed.

Section A - consists of 20 questions of 1 mark each.

If the prime factorisation of a natural number k is (3 x 5 x p ) where p * 2,then

the prime factorisation of 10 k?is
(@)2x3?2x53xp2 (b)2x32x53xp (c)2%x32x52xp?(d)2x3x53xp?

The point at which the graph of the polynomial p (x) = - x + 6 x 2 - 1 intersects
the negative x -axis is

(@) only -1 /3 (b)only -1/2 (c) both -1/3 and -1/2 (d) it never
intersects negative x -axis




The equations of the lines I1 I , and |3 are given by 5x + 3y = 2p ,35x + 21y =
pg , and 100x + 4qy = 240, respectively, where p and g are real numbers. The
values of p and q for which the line | 3 coincide with |1 are

(@) p=6andq=15. (b) p=6andqg=6 (c) p=15and q = 6.
(d) p=-6andq=15.

If m"=32 , where m and n are positive integers, then the value of n™is:

(a) 32 (b) 25 (c) 51 (d) 5%

The following are the graphs of quadratic equations. The graph at which roots
are not to be real:

_ »j VA
:j \\ / \
m l / \ /
T o] Fop
@) iii ) iv ()il (d) i

If zeroes of the quadratic polynomial ax2 +bx+c are reciprocal of each other,
then:
(a)a=c (b)a=b (c)b=c (da+ c=0

The value of k for which x = -2 is a root of the equation Kx?>+x-6 =0 :
(@) -3/2 (b) -1 (c) -2 (d)2

P is a point on the x-axis at a distance of 3 units from the y-axis to its left. The
coordinates of P are:

(a) (3, 0) (b) (0, 3) (c) (=3, 0) (d) (0,-3)

Two polynomials are shown in the graph below.




Find the number of zeroes that are common to both polynomials

(@)0 (b) 1 (c)2 (d)3
10 Shown below are 2 identical rectangles such that their breadth is half their
length.
5 X
B (4. -3)
What are the coordinates of point A?
(a) (4| _5) (b) (-4! _6) (C) (-2) _7) (d)(-z! _9)
11 If the lines given by 3x+2ky=2 and 2x+5y+1 = 0 are parallel, then the value of
Kis
(a) -5/4 (b) 2/5 (c) 15/4 (d) 3/2
12 If the point P(6, 3) divides the line joining A(4, 2) and B(8, 4), then:
(@) AP=_AB  (b) AP =PB () PB= AB (d)AP=-AB
13
If four angles of a cyclic quadrilateral are (2x-1)°, (y+5)°,(2y+15)° and (4x-
7)’then
(@)x=33,y=50 (b) x=30,y=53 (c) x=40,y =43 (d) x=50,y =33
14 Consider the experiment of rolling a die. Let A represent 'getting a prime

number'and B represent 'getting an odd number'.Numbers that can appear in
either A or B are
(@ {2,3,5} (b){1, 2, 3, 5} (c) {35} (dX{1,3,5}




15

If a+b=90"anda=2b,then cos?a + sin?bis equal to:

@1 (b)1/2 ()0 (d) 2
16

If two overlapping right triangles are shown below,then the value of x will be

15 cm —

(a)4 cm (b) 10 cm (c) 5¥3 cm (d) 37.5cm
17

(x2+1)?>-x2=0 has

(a)Four real roots  (b) two real roots (c) no real roots  (d) one real root
18 From the data 1,4 ,7 ,9,16 ,21, 25, if all the even numbers are removed, then

the probability of getting at random a prime number from the remaining is
(@)% (b))% (C)1/7 (d) 217

DIRECTION: In the question number 19 and 20, a statement of Assertion (A)
is followed by a statement of Reason (R).

Choose the correct option

A)Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A)

B)Both assertion (A) and reason (R) are true and reason (R) is not the correct
explanation of assertion (A)

C)Assertion (A) is true but reason (R) is false.

D)Assertion (A) is false but reason (R) is true.




19

Assertion(A): In A ABC ,if D and E are midpoints of sides AB and AC

respectively,thenDE || BC.

Reason(R): If one angle of a triangle is equal to one angle of the other triangle
and the sides including these angles are proportional ,then the two triangles
are similar.

20 Assertion(A):IfSecA +tanA = 2 ,thenSecA - tanA = 1/2
Reason(R): For 0° <A<90°,Sec?A — tan?A =1
Section B consists of 5 questions of 2 marks each.
21
If the zeroes of the polynomial x? + px + q are double in value to the zeroes of
the polynomial 2x2 — 5x — 3,then find the value p and q.
22 If 22*¥~Y = 16 and 5¥~%Y = 25, then find the value of x and y.
23 Solve for x : V3x2 + 10x —8V3 =0
OR
Find the value of m for which the quadratic equation (m — 1)x? + 2(m — 1)x + 1
Has two real and equal roots.
24 Find the value of 'k’ if (3,%) is the mid point oh the line segment joining the
points (k,0) and (7, g).
25 Two dice are thrown at the same time.Determine the probability that the
difference of the numbers on the two dice is2.
OR
A card is drawn at random from a pack of 52 cards .Find the probability that
the card drawn is neither an ace nor a king.
Section C consists of 6 questions of 3 marks each
26 Prove that v/5 is an irrational number.
27

Riddhi throws a stone in the air such that it follows a parabolic path before it
lands at P on the ground as depicted by the graph below.




Height (in units)

§

Distance (in units)

JI
The above graph is represented by a polynomial where the sum of its zeroes
is 1 and the sum of the squares of its zeroes is 25.Find the coordinates of P
and Q.

OR
If « and B are the zeroes of the quadratic polynomial p(t) = t2 —p(t+ 1) —
c,then prove that (a + 1)(B+1) =1 —c.

28

In the given figure,CD is the perpendicular bisector of AB. EF is perpendicular tq

AE intersects CD at G. Prove that g—; =

W\

29

Find the length of the longest side of the triangle formed by the points of
intersection of line 8x + 6y = 48 with the coordinate axes.

OR

Atul plotted the seating plan of his classroom on a cartesian plane such that
,Abdul is seated at (3,7),and Vaibhav is seated at (-2,-1).Parshant is seated
somewhere on the line that connects Abdul and Vaibhav. It is given that the
distance between Parshant and Vaibhav is half of the distance between Abdul
and Parshant .What are the coordinates of Parshant’sseat ?

30

If cosec (A-B)=2 and cot (A+B)= 1/43, 0°< (A+B) < 90°,A>B then finds the
value of A and B.

31

There are 1000 sealed envelopes in a box, 10 of them contain a cash prize of
X100 each, 100 of them contain a cash prize of X 50 each and 200 of them
contains a cash prize of 10 each and the rest do not contain any cash prize. If
they are well shuffled and an envelope is picked out, then find the probability
of getting an envelope containing no cash price.

Section D consists of 4 questions of 5 marks each

32

Anuj had some chocolates,and he divided them into two lots A and B.
He sold the first lot at the ratex2 for 3 chocolates and the second lot at




the rate ofz1 per chocolate, and got a total of Z400. If he had sold the
first lot at the rate of

X1 per chocolate and the second lot at the rate of 4 for 5 chocolates, his
total collection would have been 3460.Find the total number of
chocolates he had.

(OR)

The sum of the numerator and denominator of a fraction is 3 less than
twice the denominator. If the numerator and denominator are decreased
by 1, the fraction becomes %.. Determine the fraction.

33 | A railway half ticket costs half the full fare and the reservation charge is
the same on half ticket as on full ticket. One reserved first class ticket
from Mumbai to Ahmedabad costs Rs 216 and one full and one half
reserved first class ticket costs Rs 327. What is the basic first class full
fare and what is the reservation charge?

34 cosa _ cosa 2 2 20 _ .2
If osp = Mosmp = T prove that (m* 4+ n®)cos*f = n°.

OR
tand cotd_ _ 1+ secAcosecA.
1—cotA 1-tanA

35

(A) If a line is drawn parallel to one side of a triangle to intersect the
other two sides in distinct points, then prove that the other two sides are
divided in the same ratio.

(B) In the given figure, ZADC = 2BCA , prove that AACB ~ 4ADC.Hence
find BD if AC=8cm and AD =3cm.

—

-
C

Section E consists of 3 case study based questions of 4 marks
each.
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Ankita wants to make a toran for Diwali using some pieces of cardboard
.She cuts some cardboard pieces as shown below.The perimeter of
AADE and ABCE are in the ratio 2:3.

i

Based on the above information ,answer the following questions:
(i) If the two triangles here are similar by SAS similarity then find % in
terms of CE and DE.
(i))Find the length of BC.
(iif) Find the length of AD.
OR
Find the length of ED.

37

Shown below is the map of rama’s neighborhood

North gatf

Main gate 12,18)

(10, 14)

Busstand Water tank
(4,9) (10,9)

Police station

Hotel @27

(-2,5)

Fire station

Rama did a survey of his neighbourhood and collected the following
information.

e The hotel, mall and the main gate of the garden lie in a straight
line.

e The distance between the hotel and the mall is half the distance
between the mall and the main gate of the garden.




e The bus stand is exactly midway between the main gate of the
garden and the fire station.
e The mall, bus stand and the water tank lie in a straight line.

Based on the above information,answer the following questions:

i) Determine the x-coordinate of the mall's location.
ii)Find the shortest distance between the water tank and the school.
iif) Determine the type of triangular garden.
OR
Find the distance between the police station and the fire station.

38

A seminar is being conducted by an Educational Organization, where
the participants will be educators of different subjects. The number of
participants in Hindi, English and Mathematics are 60, 84 and 108
respectively.

In each room the same number of participants are to be seated and all
of them are in the same subject. Find the maximum number of
participants that can be accommodated in each room.

(i) What is the minimum number of rooms required during the event?

(i) Find the LCM of 60,84 and 108.
OR
Find the product of HCF and LCM of 60,84 and 108.

(1)

(1)

(2)




SLS DAV PUBLIC SCHOOL, MAUSAM VIHAR
SAMPLE QUESTION PAPER
TERM-1
SCIENCE (Code No. - 086)

CLASS-X

Time — 3hours Max Marks : 80
General Instructions:

I This question paper consists of 39 questions in 3 sections. Section A is
Biology, Section B is Chemistry and Section C is Physics.

ii. All questions are compulsory. However an internal choice is provided in
some Questions. A student is expected to attempt only one of these questions

SECTION-A

1. Observe the given flow chart and select the process ‘A’ from the given
options: 1

a. Respiration b. Excretion c. Photosynthesis d. Transpiration.
2. Select a 3-carbon molecule which is formed in the cytoplasm of a cell during
respiration from the given options: 1
a. Lactic Acid b. Pyruvate  c. Glucose d. Ethanol
3. Observe the given diagram and identify the process and its significance from

the following options: 1




a. Evaporation : Maintains water content in the leaf.
b. Transpiration ; creates a suction force which pulls water inside the plants.
c. Excretion ; helps in excreting out waste water from the plant.
d. Translocation ; helps in transporting materials from one cell to another.
4. Select the characteristics which are true for describing arteries. 1
a. Thick walls, no valve present.
b. Thinwalls, valve present.
c. Wider lumen, superficially present.
d. Narrow Lumen, superficially present.
5. Choose the incorrect pair; 1
a. Ultrafiltration- Glomerulus.
b. Concentration of Urine — Collecting duct.
c. Transport of urine - Ureter.

d. Storage of urine — urinary bladder.

6. Select the stimulus in response to which sunflowers how movement. 1
a. Gravity b. Chemicals c. Day or Night d. Water
7. Which among the following hormone promotes cell division in plants? 1
a. Gibberllins b. Cytokinines c. Auxin d. Abscisic acid

Read the assertion and reason carefully in question number 8 and 9 then mark the
correct option out
of the options given below:

i. If both assertion and reason are true and the reason is the
correct explanation of the Assertion.

ii. If both assertion and reason are true and the reason is not the
correct explanation of the Assertion.

iii. If assertion is true but reason is false.

iv. If the assertion and reason both are false.

8.Assertion (A): The inner walls of the small intestine have finger like projections called villi
which are rich in blood.



Reason (R): These villi have a large surface area to help the small intestine in completing the
digestion of food

9.Assertion (A) : Receptors are usually located in our sense organs and perceive a particular
stimulus.

Reason (R) : Different sense organs have different receptors for detecting stimuli.

10.State the role of enzymes secreted by pancreatic juice.
OR,
List two functions of finger like projections present in small intestine of humans. 2
11.Analyse the following disorders and name the hormone responsible for each. 2
Q) Dwarfism
(i) Goitre
(1ii) Diabetes
(iv) Irregular menstrual cycle
12. Explain the mechanism by which the water is transported in plants? 2
13. Mention three ways by plants show excretion. 3
14. Identify the part of human brain responsible for following functions: 4
a) Riding a bicycle
b) Blood pressure
c) Sensation of feeling full.
OR,
Illustrate reflex action through a reflex -arc.

15. In a school visit , students of class X observed three types of leaves on a plant, Young
leaves were used red in colour. Some leaves were variegated and many mature leaves were
green.

On the basis of above case, answer the following questions:
(1) Do young leaves have chloroophyll ? justify your answer. (1)

(i) List two examples of variegated leaves. Q)



(1) Out of the three leaves mentioned above, which one will show the
presence of starch and why? (2)

Or,

On the basis of your understading about the plastids. Write the names and function of plastids
which do not impart green colour.

16. (i) Explain how do opening and closing of stomatal pore take place?
(i)What is the significance of this process?
(iii)Draw a well-labelled diagram to show open and closed stomatal pores?
OR,
(i)Name the mode of nutrition present in amoeba.
(ii)Draw a labelled diagram to show the process of nutrition in amoeba.

(iii)compare and contrast with one point each of difference and similarity between
Cuscuta and tapeworm.

SECTION B

17.Which of the following is an example of weak acid? 1
a. Sulphuric acid
b. Nitric Acid
c. Hydrochloric Acid
d. Phosphoric Acid

18.What do you observe when potassium lodide solution is added to Lead Nitrate Solution?
1

a. Ared ppt of Lead lodide is formed.

b. Ared ppt of potassium Nitrate is formed.

c. A yellow ppt of potassium Nitrate is formed.
d. A yellow ppt of lead iodide is formed.

19.The ratio in which concentrated HCI and Concentrated HNO3 are mixed in aqua-regia:
1

a. 31 b. 1:1 c. 1:3 d 2:1



20.Same volume of Hydrochloric Acid and Ammonium solution have been mixed. They have
Same strength. What will be nature of the resultant solution? 1

a. Acidic b. Basic c. Neutral d. cannot be decided.

21.The correct sequence of A,B,C in balanced chemical equation given below is: 1
A N2+ B HzaC NH3

a. A-1,B-2,C-3

b. A-2,B-3,C-1

c. A-2,B-1,C-3

d. A-1,B-3, C-2
22.Which if not the characteristics of ionic compounds? 1

a. They have high melting points.

b. They are non-electrolytes.

c. These are solid and hard.

d. They have strong inter-ionic attraction

23. In the reaction of aqueous solution of barium chloride with aqueous solution of sodium
sulphate, the aqueous solution formed will be: 1

a. BaCl2
b. BaSO4
c. Na2SO4
d. NaCl
24. Assertion(A): Hydrogen Peroxide is kept in coloured bottles.

Reason(R): It is highly unstable and slowly decomposes when kept in presence of sunlight
1

25.Rahul added iron nails to copper sulphate solution. After sometime colour of solution
changes. Give a suitable reason for the observation. Also write balanced chemical equation
for same. 2

26. a) Why do we need to control the temperature during formation of Plaster of Paris from
Gypsum?

b) Gaseous HCI does not change the colour of dry Blue litmus paper- Explain.



c) Both Acid solution and Base solution ( in water) always contain hydronium ions and
hydroxide ions- Justify. 3

27.1dentify the type of chemical reaction and justify by giving suitable reason for the same

(i MgCl. + Li2COs a MgCOs + 2 LiCl.

(ii) 2 AgNOs + Cu a Cu(NOs)2 + 2Ag

(iii) 03402+0 3
OR,

Identify the substance (i) oxidised (ii) reduced (iii) oxidising agent , by giving suitable
explanation in the following reaction: 4 Na + Oz a 2 Na;O

28.We know how acid-base indicators can be used to distinguish between an acid and a base.
We have also learnt in the previous section about dilution and decrease in concentration of H*
or OH  ions in solutions.

A scale for measuring hydrogen ion concentration in a solution , called pH scale has benn
developed. The p in pH stands for ‘potenz’ in German, meaning power. ON the pH scale we
can measure pH generally from O(very acidic) to 14 (very alkaline) . pH should be though of
simply as a number which indicates the acidic or basic nature of a solution. Higher the
hydroniu, ion concentration , lower is the pH value.

a) At which pH decay of human tooth starts?

b) What is the expected colour of aqueous NaCl mixed with few drops of Universal
Indicator?

c¢) Aqueous NaCl has been electrolysed using Pt-electrodes mixed with few drops of
phenolphthalein . Will be there any colour development? If so — explain with suitable
reason.

OR

c) A 100 ml aqueous solution contains 2 ml HCI. It is added with 900ml water. How
would the pH of the solution be affected? Comment on the absolute number of H* or
H3O" ions’ variation during this activity. (1+1+2)

29.(a) Samples of four metals A,B,C and D were taken and added to the following
solution one by one. The results obtained have been tabulated as follows:

Metal | Iron (1) Copper (1) Zinc Silver
Sulphate Sulphate Carbonate Chloride

A Dsiplacement | .............. No Reaction | ............

B No Reaction No Reaction No Reaction No Reaction




C No Reaction NO Reaction No Reaction Displacement
D No Reaction Displacement | ... | L.

Use the table above the answer the following questions about metals A,B,C and D

(1 Which is the most reactive metal.

(i) What would you observe if A is added to a solution of copper (II)
sulphate?

(iii) Arrange the metals A,B,C and D in the order of decreasing reactivity.

(b) Write balanced chemical reaction.
(i) Aluminium with Steam.

(ii) Sodium oxide with water.

OR

a) Give reasons for the following :

Q) Sodium , Potassium and lithium are stored in kerosene oil.

(i) Electric wires are coated with PVC material.
b) Explain the meaning of amphoteric oxides.
C) Name two metals which will displace hydrogen from dilute H.SO4 and two metals
which will not. 5

Section C
30. Which element is used for making electric wires? 1
a. Silver b. Phosphorus c. Sodium d. lodine

31. The Maximum Resistance obtained by using three resistances of 5 ohmeach is: 1

a. 10 ohm b. 7.50hm  c. 15 0hm d. 50hm
32. No force acts on a current carrying conductor when it is placed: 1
a. Perpendicular to magnetic field
b. Parallel to magentic field
C. Far away from magnetic field

d. Inside magnetic field



Read the assertion and reason carefully in question number 4 and 5 then mark
the correct option out of the options given below:
I If both assertion and reason are true and the reason is the

correct explanation of the Assertion.

ii. If both assertion and reason are true and the reason is not the
correct explanation of the Assertion.

iii. If assertion is true but reason is false.

iv. If the assertion and reason both are false.

33. Assertion (A): The equation V = RI does not apply to those conducting. devices that do
not Ohm's law.

Reason (R): V = Rl is a statement of Ohm’s law. 1

34. (a) List two properties of magnetic field lines. 2
(b) Draw magnetic field lines around a Bar magnet.

35. 1) Distinguish between the terms electrical resistance and resistivity of conductor.
if) Which of the cables, one rated 5 A and the other 10 A will be of thicker wire? Give a
reason for your answer. 2

36. Mohan bought a refrigerator rated 400 Watt, which operates 10 hours per day. What is
the cost of electrical energy to operate it for 30 days at % 7 per unit? 2

OR,

Why is series arrangement not used for connecting domestic electric appliances. Give two
reasons.

37. A current carrying conductor is placed in a uniform magnetic field , what will you

observe 3
Q) When current in the conductor is increased.
(i) Length of the rod is increased.
(i) Intensity of the magnetic field is increased.

38. A wire of given material having length | and area of cross section A, has resistance 4
ohm. What would be the resistance of another of same material having length 1/2 and area of
cross section 2A. 3

39. Ananya got her house renovated. While having the new wiring done , she observed that
there were different colors of the wire used. She asked the electrician about significance of



the color but not satisfied with the answer. Based on the above information answer the
following :

a. What could be the reason for different colour and what do they signify.

b. What will happen if the red colour and black colour wire touch each other.

c. Name the two safety measures used in the electric circuit and appliance.
Or,

An electric oven of 2 kW power is operated in a domestic electric circuit(220 volt supply)
that has a current rating 5 Amp. What result do you expect , explain.

(1+1+2)
40. In the following Circuit Diagram, calculate: 5
() Effective Resistance of the circuit.
(i) Total Current in the circuit.

(iii) ON what factor resistance of the conductor
depends, write SI unit of resistivity.
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Time Allowed: 3 Hours Maximum Marks: 80
General Instructions:

1.There are 38 questions in the Question paper. All questions are compulsory.

2.The question paper has four Sections — A History, B- Geography, C- Political Science, D-
Economics. Each Section is of 20 marks.

3.Very Short Answer Type Questions, carrying 2 marks each. Answer to each question should
not exceed 40 words.

4. Short Answer Type Questions, carrying 3 marks each. Answer to each question should not
exceed 60 words

5. long answer type questions, carrying 5 marks each. Answer to each question should not
exceed 120 words.

6.Case based questions with three sub questions and are of 4 marks each. Answer to each
question should not exceed 100 words.

7.Map based, carrying 5 marks with two parts, History (2 marks) and Geography (3 marks).
8.There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions have to be attempted.

SECTION AHISTORY

QL. Identify the leader, who was the chief architect that led process of German unification
from the given options: 1
A.Kaiser William |

B.Otto Von Bismarck

C. Victor Emmanual 11

D.Count Cavour

Q2. Arrange the following statements in sequential order based on the events that shaped the
Non-cooperation movement. 1
i.General Dyer opened fire at the large crowd gathered in the enclosed ground of Jallianwala
Bagh.

i.“Forced recruitment” carried out by the British government and the economic hardships
faced by the people during the first world war.

iii. The defeat of the Ottoman Emperor of Turkey led to the formation of the Khilafat
movement.

iv.Gandhiji launched a nationwide satyagraha against the Rowlatt act.

Options:
A v, i, i, C. i, iv, iii, ii
B.ii, i, iv,iii D.i, ii, iii, iv

Q3. Name the leader who wrote ‘Hind Swaraj’ in 1909. 1



Options:
A. C.R Das C. Mahatma Gandhi
B.Subhash Chandra Bose D. Jawahar Lal Nehru

Q4. Discuss any two reasons responsible for the Non-cooperation movement losing its
momentum in the towns and cities. 2

Q5. Explain the contribution of Giuseppe Mazzini in spreading revolutionary ideas in

Europe. 3

Q6. ‘Culture played an important role in the growth of nationalism in Europe’. Justify the

statement with suitable examples. 5
OR

‘Initially Napoleon was welcomed as harbingers of liberty, but the initial enthusiasm soon
turned to hostility’. Analyse.

Q7. Read the source given below and answer the question that follows:

“We believe that it is the inalienable right of the Indian people, as of any other people, to have
freedom and to enjoy the fruits of their toil and have the necessities of life, so that they may
have full opportunities of growth. We believe also that if any government deprives a people
of these rights and oppresses them, the people have a further right to alter it or to abolish it.
The British Government in India has not only deprived the Indian people of their freedom but
has based itself on the exploitation of the masses, and has ruined India economically,
politically, culturally, and spiritually. We believe, therefore, that India must sever the British
connection and attain Purna Swaraj or Complete Independence.

7 a. Who presided over the congress session 1929 in Lahore. 1
7 b. How did the British Government in India, deprive the freedom of Indian people. 1
7 c. Enlist any two significance of Lahore session in the history of India. 2

Q8.Two places A and B have been marked on the given outline map of India. Identify them
and write their correct names on the lines drawn near them. 2
A Indian National congress session at this place in 1927.

B. The place where Mahatma Gandhi broke the salt law.
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SECTION B GEOGRAPHY

Q9. Current fallow land left without cultivation for 1
A. Less than one year.

B. One to three years.

C. Four to five years.

D. More than 5 years.

Q10. “We have not inherited the world from our fore fathers, we have borrowed it from our
children.” — Mr. Lester Brown 1
Which of the following statements best displays this principle in action?

A. Using a current oil reserves before beginning to explore more reserves

B. Moving to oil reserves under the sea to avoid drilling on land

C. Moving to alternative fuels to conserve world oil reserves

D. Using modern drilling facilities to extract petroleum.

Q11.Irrigation has changed the cropping pattern of many regions and caused many ecological
problems. Pradhan Mantri Krishi Sinchaee Yojna is to bring desired rural prosperity. Identify

the correct information related to a Mantri Krishi Sinchaee Yojna. 1
Aland 2only C.1,3and4only
B.2 and 3 only D.1, 2 and 4 only.

Q12. In the questions given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option: 1
Assertion(A): Sustainable development is not essential for economic growth of the countries.
Reason(R): Sustainable development ensures that environment friendly measures are adopted
for carrying out the production process.

A.Both Aand R are true and R is the correct explanation of A.

B.Both Aand R are true but R is not the correct explanation of A.



C.Ais true but R is false.
D.As false but R is true.

Q13. Suggest any two steps taken to control soil erosion in the hilly areas. 2

Q14. Analyse the role of community in combating forest and wildlife destruction. Support
your answer by giving three examples. 3

Q15. Enlist any five measures introduced under the government's comprehensive agricultural
development programme aimed at improving the sustained use of agricultural land and
enhancing the condition of the farmers. 5

Q16. Read the source given below and answer the questions that follow:

In ancient India, along with the sophisticated hydraulic structures, there existed an
extraordinary tradition of water-harvesting system. People had in-depth knowledge of rainfall
regimes and soil types and developed wide ranging techniques to harvest rainwater,
groundwater, river water and flood water in keeping with the local ecological conditions and
their water needs. In hill and mountainous regions, people built diversion channels like the
‘guls’ or ‘kuls’ of the Western Himalayas for agriculture. ‘Rooftop rainwater harvesting’ was
commonly practised to store drinking water, particularly in Rajasthan. In the flood plains of
Bengal, people developed inundation channels to irrigate their fields. In arid and semi-arid
regions, agricultural fields were converted into rain fed storage structures that allowed the
water to stand and moisten the soil like the ‘khadins’ in Jaisalmer and ‘Johads’ in other parts
of Rajasthan.

16a Why is resistance rising against the multi-purpose projects? Give any one reason. 1
16b - In western Rajasthan, the practice of rooftop rainwater harvesting is on the decline.
Why? 1
16¢ Describe any two traditional techniques of water harvesting. 2

Q17. On the same outline map of India locate and label any three of the following with
suitable symbols

i.Region of black soil in Deccan trap. 3
ii.Major Rubber producing state in N.E. India.
iii.Salal dam.

iv.Dam on Krishna river.
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SECTION CDEMOCRATIC POLITICS

Q18. Consider the following four statements. 1
I.In a federation the powers of the federal and provincial governments are clearly demarcated
Il.India is a federal state as, the powers of the Union and the State governments are specified
in the constitution.

I11.Sri Lanka is federation because the country is divided into provinces.

IV.India is no longer a federal because some powers of the states have devolved to the local
government bodies

Which of the statements given above are correct

A.ABandC

B.A,Cand D

C.Aand B only

D. B and C only

Q19. Besides Hindi there are other languages recognized as scheduled
languages by the constitution. 1

A.21B.24 C.12 D.31

Q20.The following question consists of two statements. Assertion and Reason select the
appropriate options 1
ASSERTION: Sri Lanka adopted Tamil as the official language of the state.

REASON: The government of Sri Lanka adopted a series of majoritarian measures.

A.Both Aand R are true and R is the correct explanation of A.
B.Both Aand R are true and R is not the correct explanation of A.
C.Option Ais correct but R is Incorrect

D.Option Ais incorrect but R is correct

Q21. Match list 1 with List 2 and select the correct answer using the options given below 1
Listl List2

1.Ethnic a. Either only one or two level of government

2.Majoritarianism . Aviolent conflict groups within a country

3.Civil War  c. Belief that majority community should be able to

rule in the country.

4.Unitary System d. A social division based on the culture.

Options
A.1-d,2-a,3-c,4-b C. 1-c,2-a,3-b,4-d
B.1-b,2-d,3-a3,4-c D. 1-a,2-c,3-b,4-a

Q22. There are two statements marked as Assertion (A) and Reason (R). Mark your answer
as per the codes provided below: 1
Assertion: Polish was used for Church gatherings and all religious instructions in Poland by
the clergy class.

Reason: Vernacular language played an important role in developing nationalistic sentiments
among the Polish people.

A.Both Aand R are true and reason is the correct explanation of assertion

B.Both Aand R are true but reason is not the correct explanation of assertion.

C.Alistrue but R is false



D.Als false but R is true
Q23. Indian constitution advocates an official language for India.(TRUE or FALSE)1

Q24. “Religion can never be separated from politics” Justify the given statement by giving
two points. 2

Q25. In what ways women’s role has improved in public life? 3
Q26. Read the source below and answer the questions that follow:

After gaining independence in 1948, Sri Lanka adopted majoritarian policies that favored the
Sinhala-speaking majority (74%) over the Tamil-speaking minority (18%). In 1956, Sinhala
was declared the only official language, and Buddhism was given state protection, ignoring
the interests of Tamil-speaking citizens. These policies led to discrimination in jobs,
education, and political representation, creating deep divisions between the Sinhala and Tamil
communities. The Sri Lankan Tamils demanded equal rights and regional autonomy, but their
demands were denied, leading to a prolonged civil war.

26a. State the majoritarian policy adopted by Sri Lanka in 1956. 1
26b. Mention the reason that Sri Lankan Tamils feel alienated by the government. 1
26¢.State the consequences of the Sri Lankan government's refusal to share power. 2

Q27. Highlight the key features taken to strengthen the local self-government by the

constitutional amendments, 1992. 5
OR

Describe any five features of Federalism.

Q28. Read the source below and answer the questions that following

After gaining independence in 1948, Sri Lanka adopted majoritarian policies that favored the
Sinhala-speaking majority (74%) over the Tamil-speaking minority (18%). In 1956, Sinhala
was declared the only official language, and Buddhism was given state protection, ignoring
the interests of Tamil-speaking citizens. These policies led to discrimination in jobs,
education, and political representation, creating deep divisions between the Sinhala and Tamil
communities. The Sri Lankan Tamils demanded equal rights and regional autonomy, but their
demands were denied, leading to a prolonged civil war.

28.1- State the majoritarian policy adopted by Sri Lanka in 1956. 1

28.2- Mention the reason that Sri Lankan Tamils feel alienated by the government. 1
28.3- State the consequences of the Sri Lankan government's refusal to share power. 2

SECTION D ECONOMICS
Q29.Analyse the table given below and answer the question that follows: 1
The source shows a database of workers employed in different sectors (in millions).

Sector Unorganised Organised Total

Primary 240 2 242




Secondary 54 9 63

Tertiary 76 17 93
Total 370 28 398
Total in % 100%

What percentage of tertiary sector workers in India is employed in the unorganized sector
according to the table?
A.71.2% B. 80% C. 8L.7% D. 91.7%

Q30. What percentage of tertiary sector workers in India is employed in the unorganized
sector according to the table? 1
A.71.2% B. 80%

C. 81.7% D. 91.7%

Q3L1.. India comes in the category of countries because its per capita income in
2019 was just US$ 6700 per annum. 1

A low middle income country
B. middle income country

C. high middle income country
D. poor country

Q32. Fill in the blank: 1
Sector Criteria

Primary, Secondary and Tertiary Nature of Economic Activity

Organized and unorganized

Codes:

A.Nature of production activities B. Nature of employment activities

C.Nature of social activities D. Nature of non-economic activities

Q33. Read the data given below and answer the question: 1

State | Infant Mortality Rate per 1000 live births (2018) | Literacy Rate (%) 2017-18
A 30 82

B 7 94

As per the data given above, Analysed why State B has low Infant Mortality Rate:

A It has high Per Capita Income

B. It has better infrastructure than State A
C. It has good teachers and schools
D. It has health care and education for all.

Q34. Assertion (A): An equitable distribution of resources has become essential for a
sustained quality of life and global peace. 1
Reason(R): Equitable distribution promotes inequality among classes.

Choose the correct answer out of the following choices.

A.Both Assertion(A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

B.Both Assertion(A) and Reason (R) are true and Reason (R) is not the correct explanation
of Assertion (A).

C.Assertion (A) is true but Reason (R) is false.

D.Assertion (A) is false but Reason (R) is true.




Q35. On the basis of the given table, calculate the average income of Country A and Country

B: 1
Country Monthly Income of Citizens in 2010 (In Rupees)
1 2 3 4 5 Average
Country A | 9500 | 10500( 9800 | 10000 10200 ?
Country B | 1500 | 2000 500 | 500 48000 ?
A.10,200; 10,600 B. 9500; 10,100
C. 10,000; 10,500 D. 9700; 10,900

Q36. In the questions given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option: 1
Assertion(A): Sustainable development is not essential for economic growth of the countries.
Reason(R): Sustainable development ensures that environment friendly measures are adopted
for carrying out the production process.

A.Both Aand R are true and R is the correct explanation of A.

B.Both Aand R are true but R is not the correct explanation of A.

C.Alis true but R is false.

D.A s false but R is true.

Q37. “Money in your pocket cannot buy all the goods and services that you may need to live
well.” In the context of the above statement, justify how income itself is an inadequate
indicator of development. 2

Q38. The service sector also includes some essential services that may indirectly help in the
production of goods and services. Examine the importance of the service sector in building

the economy. 5
Or

The secondary sector covers activities in which goods are converted into other forms through

the process of manufacturing . Examine the contribution of the manufacturing sector in an

economy.



SLS DAV PUBLIC SCHOOL
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General Instructions:
1. Please read the instructions carefully.
2. This Question Paper consists of questions in two sections: Section A & Section B.
3. Section A has Objective type questions whereas Section B contains Subjective type questions.

SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKS)
QL. i) “M D Gulati started with a small shop with his focus, dedication and clear ideas, MDH became one
of the most popular brands in India besides having a good reputation all over the world”. Which
self-management skill is clearly visible in the given statement?

i) When you bring the mouse over a file in File Explorer, it will show the details of that file. This is
known as
(a) Drag and drop (b) Double click (c) Hover (d) Single click

iii) Assertion(A): A doctor works for a renowned hospital.
Reason(R): The statement given above is an example of wage employment.
(a) Both A and R are correct and R is the correct explanation of A
(b) Both A and R are correct but R is NOT the correct explanation of A
(c) Ais correct but R is not correct
(d) Ais not correct but R is correct

iv) the work is all about identifying and noting how we spent our time, and analysing how to
spend our time effectively.
(a) Organising (b) Prioritising (c) Controlling (d) Tracking

v) Remya traveled to Sweden from India to pursue her higher education. But she doesn't know how to
speak Swedish (language of Sweden). Because of this, she was unable to find a part time job. This is an
example of
(a) Interpersonal barrier (b) Physical barrier
(c) Organisational barrier (d) Linguistic barrier

vi) . “Efforts are made to increase the solar power generation so that our electricity needs are met and at
the same time we do not pollute the environment or use up natural resources”. Which SDG can you relate
this statement to?

(a) Life on land (b) Clean water and sanitation

(c) Affordable and clean energy (d) Reduced inequalities

Q. 2 Answer the questions from Subject Specific Skills.

2.1 Assertion (A)— One can be a good singer while the other can be a great athlete.
Reason(R) — Humans possess different types of intelligences but at different levels.
(a) Both A and R are correct and R is the correct explanation of A

(b) Both A and R are correct but R is not the correct explanation of A

(c) Ais correct but R is not correct

(d) Ais not correct but R is correct.

2.2) The Indian Government banned a few apps stating — “servers in the hostile nation are receiving and
using the acquired data improperly”. Which terminology suits best for this action?



(a) Al Ethics (b) Data Privacy (c) Al Bias (d) Al Access
2.3). Statment1: There are four layers in a neural network.
Statement2:The first layer of the neural network is known as the output layer.
(a) Both Statement1 and Statement2 are correct
(b) Both Statement1 and Statement2 are incorrect
(c) Statementl is correct but Statement2 is incorrect
(d) Statement2 is correct but Statement1 is incorrect

2.4) Observe the given graph and fill in the blank:
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the neural network, better is the performance.

2.5) is a simple file format that stores data separated by commas.
(@) ipg (b) doc (c) csv (d) png

2.6) Read the examples given below
i. Using Chat GPT to write an email
ii. Face unlock technology of mobile phones using camera
iii. Turning off lights with 10T device
iv. Hand sanitizer dispenser having sensor
Choose the options that are not Al
(@) iand ii (b) iiiand i (c) iiiand iv (d) i, iii and iv

2.7) Which of the following is an application of data science?
(a) Text summarization (b) Target Advertisements (c) Face lock in smartphones (d) Email filters

2.8) Identify the given Chat bot type:
It learns from its environment and experience. It also builds on its capabilities based on the knowledge.
These can collaborate with humans, working along-side them and learning from their behavior.

2.9) F1 Score is the measure of the balance between
(a) Accuracy and Precision (b) Precision and Recall (c) Recall and Accuracy(d) Recall and Reality

2.10) . Statmentl1: The output given by the Al model is known as reality.
Statement2:The real scenario is known as Prediction.

(a)Both Statement1 and Statement2 are correct

(b)Both Statement1 and Statement2 are incorrect

(c) Statementl is correct but Statement?2 is incorrect

(d) Statement2 is correct but Statement1 is incorrect

2.11) Which feature of NLP helps in understanding the emotions of the people mentioned with the
feedback?
(a) Virtual Assistants (b) Sentiment Analysis (c) Text classification (d) Automatic Summarization



2.12) Rajat has made a model which predicts the performance of Indian Cricket players in upcoming
matches. He collected the data of players’ performance with respect to stadium, bowlers, opponent team
and health. His model works with good accuracy and precision value. Which of the statement given
below is incorrect?

(a) Data gathered with respect to stadium, bowlers, opponent team and health is known as Testing Data.
(b) Data given to an Al model to check accuracy and precision is Testing Data.

(c) Training data and testing data are acquired in the Data Acquisition stage.

(d) Training data is always larger as compared to testing data.

2.13) Sarthak made a face mask detector system for which he had collected the dataset and used all the
dataset to train the model. Then, he used the same data to evaluate the model which resulted in the correct
answer all the time but was not able to perform with unknown dataset. Name the concept.

2.14) Aditi, a student of class XII developed a chatbot that clarifies the doubts of Economics students.
She trained the software with lots of data sets catering to all difficulty levels. If any student would type or
ask questions related to Economics, the software would give an instant reply. Identify the domain of Al in
the given scenario.

(a) Computer Vision (b) Data Science  (c) Natural Language Processing  (d) None of these

2.15) Which evaluation parameter takes into consideration all the correct predictions?

2.16) Which one of the following scenario result in a high false positive cost?
(a) viral outbreak (b) forest fire (c) flood (d) spam filter

2.17) If True Positive (TP)=90, True Negative (TN)=880, False Positive (FP)=20 and False Negative
(FN)=10, then Accuracy will be
(@) 0.97 or 97% (b) 0.98 or 98% (c) 0.96 or 96% (d) None of these

2.18) Anita was confused with the terms used in the evaluation stage. Suggest her the term used for the
percentage of correct predictions out of all the observations.
a) Accuracy b) Precision c) Recall d) F1 Score

2.19) What do mean by term Evaluation?

2.20) Neha was learning the conditions that make up the confusion matrix. She came across a scenario in
which the machine that was supposed to predict red light traffic signal, was always predicting not red
light traffic signal. What is this condition called?

a) False Positive b) True Positive c) False Negative d) True Negative

SECTION B: SUBJECTIVE TYPE QUESTIONS
Answer the questions on Employability Skills Answer each question in 20 — 30 words.
Q3 List two best practices for effective communication. 2

Q4 What is the importance of setting goals in life? 2
Q5 “The Trojan Horse was a wooden horse said to have been used by the Greeks during the Trojan

War to enter the city of Troy and win the war”. What does Trojan horse mean in computer
terminology? 2



Q6 How is society helping entrepreneurs in their business? 2

Answer the questions on Subject Specific Skills in 20 — 30 words each
Q7. All of us use smartphones. When we install a new app, it asks us for several permissions to access
our phone’s data in different ways. Why do apps collect such data? 2

Q8. Sirisha and Divisha want to make a model which will organize the unlabeled input data into groups
based on features. Which learning model should they use and why? 2

Q9. Ajay wants to access data from various sources. Suggest him any two points that he needs to keep
in mind while accessing data from any data source. 2

Q10. Draw the confusion matrix for the following data 2
* the number of true positive = 100

* the number of true negative 47

* the number of false positive = 62

* the number of false negative = 290

Q11. Differentiate between Al and Non-Al technology with example. 2
Q12. What is accuracy in evaluation? 2

Q13. Nowadays, the problem of floods has worsened in some parts of the country. Not only does it
damage the whole place but it also forces people to move out of their homes and relocate. To
address this issue, an Al model has been created which can predict if there is a chance of floods
or not. Considering all the possible situations make a Confusion Matrix for the above situation.

Answer any 3 out of the given questions in 50— 80 words each (4 marks each)

Q14. Your grandmother watches you use Al applications. She wants to understand more about it. Help
her understand the term artificial intelligence by giving the right definition and explain to her with an
example how machines become artificially intelligent.

Q15. Create a Problem Statement Template based on the given scenario:

Scenario The world is competitive nowadays. People face competition in even the tiniest tasks and are
expected to give their best at every point in time. When people are unable to meet these expectations, they
get stressed and could even go into depression. We get to hear a lot of cases where people are depressed
due to reasons like peer pressure, studies, family issues, relationships, etc. and they eventually get into
something that is bad for them as well as for others. So, to overcome this, cognitive behavioural therapy
(CBT) is considered to be one of the best methods to address stress as it is easy to implement on people
and also gives good results. This therapy includes understanding the behaviour and mindset of a person in
their normal life. With the help of CBT, therapists help people overcome their stress and live a happy life.

Q16. Akhil wants to learn how to scope the problem for an Al Project. Explain him the following:
(a) 4W Problem Canvas
(b) Problem Statement Template

Q17. Discuss all four cases of confusion matrix.



Q18. An Al model made the following sales prediction for a new mobile phone which they have recently
launched:

Confusion Matrix Prediction
Yes No
. Yes 12 6
Reality No 4 21
() Identify the total number of wrong predictions made by the model.

(i) Calculate precision, recall and F1 Score.
Q19. Explain how neural networks work in an Al model and mention any three features of Neural
Networks.

Q20. Define Artificial Intelligence, Explain the three domains of Al and the data that is used in these
domains.



